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Chapter 5 Review

O Match each term with its best fitting definition.

e
_i term

polynomial

@ coefficient

b constant term

'@ monomial

a. the number in front of the variable

b. this value does not change when the value of x
changes

c. 6 +3x—6

d. numbers, variables, or the product of numbers
and variables

e. one term or the sum of terms whose variables
have whole-number exponents
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C trinomial g. can be represented by algebra tiles with the
same size and shape
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3. Create af lynomial that meets these conditions:

a trinomial in variable k, degree 3, constant term i@
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y 3k’+k -5
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(, must have one ferm “4othe
Hrd degree .

4. Simplify the following polynomials, if you can.

a)4x+ ( GX)

-Zxﬁ

b)uz“‘w[‘

c)10xy +5x—10y
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5. Match each polynomial with its corresponding algebra
tile model.

Model A

- Model B
b) l 2 B

art—r+3

c) E b) —t*—3

@ A d) 2w + 2 33

o) Ca e) 257 — 25+ 1 ‘
Model D
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¢ Model E
e

6. Write the simplified version of the following
polynomials in descending order.

) 2x* ¢+ | )
B, s
? //E -X*+ 2
e) /// _;,;/// zx'), 4 \
'l 3

7. Add or Subtract the following polynomials.

I+ 5x
— (=22 - 8x)

bx”™ 13%

2) 32+ 5x + 7 b)
+ =82 =3x+5

—bx*42x +IL
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8. a) Which polynomial must be added to 5x* - 3x + 2 to
get 7x* - 5x +1?
z_ + /
Ox“-3x+2 () Ayt = I =] #
OV@Y Xt -Sx+1-(5x?-3x+2) = )
) Which polynomial must be subtracted from 5x° - 3x + 2

to get 7x* - 5x + 1? oz
Ex? — 3% ¥ '(____,_____) w a0 |

e) (—4x7

9. The perimeter of the polygon is 8w +6

a) Determine the unknown length.

gwtb
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Y Now determine the area of the figure.
_A = ’ X W
A =2w(2wt2) /,
A= Gw™+ow

= Tx2 -5x+| /
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a) Write the multiplication statement represented by this
diagram.

3(-zmtH) =-bm +12s /]

b) Write the division statement represented by this
diagram. G t 172

> i

= -2m tY
5 /‘f
11. Multiply__cwithe following. I
a) 4@3}/ - 9) ;
’2\%37*4'!211'3& /’
., =10 L Ym? y
b} ‘—10;4-24171" = ——5+ ‘T.’L— /{
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& (—8n + 2 = 3n7)(3)
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12. Simplify

(xR 14xy) /(rbx*-2xg) < 2X
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Evaluate -Ifx=2andy=-1,

= -3
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